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; 100kN/MZ#8 % % — -~ = —|3mEBZB| — ~ — — — | 100kN/M%Z# %3 — - ~ — —|3mZE#BZ3 - ~ — — —
ZznLst 1.00 | 0.00 ~ 4.76 59.32 | #hdst | 0oo ~ 000|177 8.94 ZznLst 1.00 | 5.00 ~ 5.00 59.32 | #nS | 5,00 ~ 5.00)1.77 8.94
2 100kN/mMZ#8 % % — -~ = —|3mEBZB| — ~ - — — | 100kN/M%Z# %3 — - ~ — —|3mZE#BZ3 - ~ — — —
ZznLst 1.00 | 0.00 ~ 5.61 70.09 | =0y | 000 ~ 0.00)| 1.74 8.78 ZznLst 1.00 | 5.00 ~ 6.20 70.09 | FnRS | 6,00 ~ 620|174 8.78
3 100kN/MZ#8 % % — -~ = —|3mEBZB| — ~ — — — | 100kN/M%Z# %3 — - ~ — —|3mZE#BZ3 - ~ — — —
ZznLst 1.00 | 0.00 ~ 467 58.20 | #hst | 0oo ~ 000|162 818 ZznLst 1.00 | 5.00 ~ 5.00 5820 | #nLst | 5,00 ~ 500 1.62 818
4 100kN/mMZ#8 % % — -~ = —|3mEBZB| — ~ - — — | 100kN/M%Z# %3 — - ~ — —|3mZE#BZ3 - ~ — — —
ZznLst 1.00 | 0.00 ~ 4.51 56.26 | =hst | 0oo ~ 451|199 10.06 ZznLst 1.00 | 5.00 ~ 5.30 56.26 | =nLs | 5,00 ~ 530 1.99 10.06
5 100kN/m#%#B25| 1.00| 000 ~ 1.05| 11581 |3mZEBzB| — ~ — — — | 100kN/mi%E# 825 | 1.00 | 1055 ~ 1372 11581 |3m&EBZ5 -~ — — —
ZznLst 1.00 | 1.05 ~ 884 100.00 | =0y | 000 ~ 884|222 11.20 ZznLst 1.00 | 5.00 ~ 1055 100.00 | =N | .00 ~ 1372|222 11.20
¢ 100kN/m#%#BZ5| 1.00| 000 ~ 1.03| 11553 |3mZEBzE| — ~ — — — | 100kN/mi%E#BZ 5 | 1.00 | 1055 ~ 1369 | 11563 |3mEBZS -~ — — —
ZznLst 1.00 | 1.03 ~ 882 100.00 | =04y | 000 ~ 882|218 11.02 ZznLst 1.00 | 5.00 ~ 1053 100.00 | =N | 6,00 ~ 1369|218 11.02
. 100kN/m#%#BZ5| 1.00| 000 ~ 090| 11352 |3mZEBZB| — ~ — — — | 100kN/mi%E#BZ5 | 1.00 | 10564 ~ 1320 113.562 |3m&EBZ5 -~ — — —
ZznLst 1.00 | 090 ~ 869 100.00 | #ns | 0.00 ~ 869|221 11.18 zhnLs 1.00 | 600 ~ 10.54 100.00 | =hLS | 5.00 ~ 1320|221 11.18
3 100kN/m%Z#BZ5| 1.00 | 000 ~ 068| 110.05|3mEBZB| — ~ — — — | 100kN/miZ#Z5 | 1.00 | 1080 ~ 1295 110.05 |3mZE#BZ3 -~ — — —
ZznLs 1.00 | 0.68 ~ 846 100.00 | =4y | 000 ~ 846 2.08 10.561 ZznLst 1.00 1 6.00 ~ 10.80 100.00 | =nS | 65,00 ~ 1295 | 2.08 10.561
9 100kN/MZ#8 % % — -~ = —|3mE#BZB| — ~ — — — | 100kN/Mi%#8Z % — - ~ — —|3mZE#BZ 3 - ~ — — —
ZznLs 1.00 | 0.00 ~ 6.08 76.23 | =N | 000 ~ 0.00)|1.70 8.59 ZznLst 1.00 | 5.00 ~ 7.00 76.23 | FnLS | .00 ~ 700|170 8.59
100kN/mMZ#B % % ~ ImEBZD ~ 100kN/mMZ#BZ % ~ ImEBZD ~
Zh LS ~ Zh s ~ Zh LS ~ Zh st ~
100kN/mMZ#B % % ~ ImEBZD ~ 100kN/mMZ#BZ % ~ ImERZD ~
ZThLS ~ Zh s ~ ZhLS ~ Zh st ~
100kN/mMZ#8 % % ~ ImEBZD ~ 100kN/mZ#8 %% ~ 3ImERZD ~
Zh LS ~ Zh s ~ ZhLS ~ Zh Lot ~
100kN/mMZ#8 % % ~ ImEBZD ~ 100kN/mZ#B % % ~ ImERZD ~
Zh LS ~ Zh s ~ ZhLS ~ Zh st ~
100kN/mMZ#B % % ~ ImEBZD ~ 100kN/mZ#B %% ~ ImEBZD ~
ZhLS ~ Zn s ~ Zh LS ~ Zh st ~
100kN/mMZ#8 % % ~ ImEBZD ~ 100kN/mZ#BZ % ~ 3ImERZD ~
zhnList ~ zhn s ~ zhnLst ~ Zzh st ~
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